
PIEZA / PART PIEZA / PARTDESCRIP. DESCRIP.ID. ID.QTY. QTY.

35 min1 person

Nº 3
Nº 4
Nº 6

Nº T30
Nº T50

ALLEN TORX

 Easy

DDDiffifificcuuullt

Ref.: 9152

 ENGINE SPOILER FOR 

BMW R1200GS LC ‘13-’16  -  ADV ‘14-’16

Pg. 1/3

Right rear support

Left lateral support

Right lateral support

Left rear cover

Right rear cover

Left aluminum cover

Right aluminum cover

Left lateral

Right lateral 

11

10

9

8

7

6

5

4

3

2

1

1

1

1

1

1

1

1

1

1

Stickers set

M6x16 Allen screw 7380 (black)

M5x0,5 nylon washer

M6x0,5 nylon washer

Rubber washer

Busch with fl ange

M5x16 Allen screw 7380 (black)

M5x20 Allen screw 7380 (black)

Silentblock

Luck nut M6

Left rear support

M5 Silentblock

Allen screw M8x15 DIN 912 (black)

15

19

20

21

22

14

17

18

13

12

16

1

11

8

6

2

4

6

2

4

10

1

8

4

-Intermediate

PART PART



 - MOUNTING INSTRUCTIONS -

 ENGINE SPOILER FOR 

BMW R1200GS LC ‘13-’16  -  ADV ‘14-’16

2

3

1

Pg. 2/3

4

Right side Right side

Right side

Original screwsA

16

A
12

7

11

16

3
129

15

16

16

20

15

19
1

16

20
15

20

15

17

13

13

14

15

14
15

12 12

Right side

19
17

5

17

19

19

20

21

18



 - MOUNTING INSTRUCTIONS -

 - ENGINE SPOILER FOR - 

BMW R1200GS LC ‘13-’16  -  ADV ‘14-’16

Pg. 3/3

6

7

5
Left side

Left side

Left side

16

12

16

12
A

16

10

A

812

4

12

15

20

20
15

20

15

19

2

16

17

13

14

15

13

14

15

Original screwsA

8
Left side

17
19

6

17

19

19

20

21

18

12

11

Rely on premium motorcycle frames & body by Puig if you’re looking for quality and efficiency.

https://www.motorcycleid.com/puig/
https://www.motorcycleid.com/frame-body.html



